
Gelbke/Scholze 3

Gries/Kallmeyer 0

Teilnehmer 1: Gelbke/Scholze

Gelbke/Scholze 2 Teilnehmer 2: Gries/Kallmeyer

Michalzik/Bolte 3

Michalzik/Bolte 3 Teilnehmer 3: Michalzik/Bolte

Finger/Menz 2

Teilnehmer 4: Finger/Menz

Michalzik/Bolte 0

Tietzel/Winter 3 Teilnehmer 5: Tietzel/Winter

Tietzel/Winter 3 Teilnehmer 6: Steinecke/Romanchuk

Steinecke/Romanchuk 1

Tietzel/Winter 3 Teilnehmer 7: Neumann/Köhler

Neumann/Köhler 2

Teilnehmer 8: Gräbner/Mussoi

Neumann/Köhler 3

Gräbner/Mussoi 0
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Halbfinale Sieger: Tietzel/Winter
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